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1. Siquatria[ node 1s situated

_ (a) at the upper end of crista terminalis

(b) at'the lower end of crista terminalis

"{¢) above the orifice of inferior vena

cavad

(d) above the orifice of coronary sinus

. Posterior surface of apex of lung is

related to the following structures
except

(a) Cervicothoracic sympathetic gang-
- lion

(b) Ventral ramus of First thoracic
spinal nerve

(¢) Superior intercostal artery

(d) Scalenus medius

. Regarding Phrenic nerve, consider the

following statements :
1. It gives motor supply to diaphragm.

2. It gives sensory branches to fibrous
pericardium. '

3.-It gives sensory branches 1o

medtiastinal pleura.

4. It gives sensory branches to parietal
serous pericardium.

Which of the statements given above
are correct ?

(a) 1,2 and 4 only
(by 1,2,3 and 4
(¢) 2,3 and 4 only

{(d) 1, 3 and 4 only
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4. Anteversion of the uterus is the angle

between the long axis of
(a) Vagina and cervix
(b) Cervix and body

(c) Body and fundus

(d) Uterus and vagina

. Round ligament of ovary is a
~ (a) True ligament

(b) Peritoneal fold

(¢) Muscular band between ovary and
uterus

(d). Persistent part of gubernaculum

. Consider the following statements

regarding lesion in the thalamus :

1. There is a loss of sensation of pain,
touch and tactile localisation on
" opposite side of the body.

2. There is a loss of appreciation of
joint movements.

Which of the statements given above

_1s/are correct?

(a) 1 only

. (b) 2 only

(¢) Both | and 2
(d) Neither I nor 2

. Circle of Willis is formed by the

following except
(a) Internal chrotid .arte_ry
(b) Posterior cerebral artery

(c¢) Basilar artery

- (d) Anterior cercbral artery
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- 8. The contralateral hemlplegla of the left .
side of the body in the patient is a

result of the involvement of

(a) Corticobulbar pro;ectlons on the
right side

(b} Right pyramidal tract rostral
(cranial) to the motor decussation.

(c) Left pyramidal tract rostral to the
decussation

(d) Medial meniscis on the right side

9. Consider the Tollowing :

The functions of cerebellum includé the -

. following :

1. Neocerebellum controls the volun-
tary movements.

2. Purkinje cells exert a stimulatory
- effect on intra cellular nuclei.

3. Archicerebellum- controls
brium and balance.

equili-

Whlch of the statements gwen above
are correct ?

(a) 1, 2and3

(b) 1and 2 only -
(¢) 2 and 3 only
(d) 1 and 3 only.

10. Consider the following :

Which of the following cranial nerves
contain general somatic afferent fibres ?

1. Facial
2. Vagus
3, Trigeminal

4. Accessory.
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11.

12.

13,

Select. the correct answer using the
code given below :

{(a) 1,2,3and 4
(b) 2; 3 and 4 only
(¢) 1 and 2 only

(d) 1,2 and 3 only

. The fdl!owing are seen in the Horner

Syndrome except

(a) Drooping of upper eyelid

(b) Inability to focus on near. object

(c) Dilated pupil

(d) Loss of sweating on the face and
neck

E).re lens develops from

(a) Surface ectoderm

(b) Mesoderm

(c) Endoderm

(d) Neuro-ectoderm

Consider the following :
Perillymph is present in
1 Scald tympani
2. Scala media

3. Scala vestibuli

- Select the correct answer using the

code given below :

(@ 1,2and3

"~ (b) 1 and 2 only

(¢) I and 3 only

 (d) 2 and 3 only
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.14, Consider the foi]owing regarding chorda

bl

15.

tympani nerve : .

1. It carries taste sensations from
anterior two thirds of tongue.

2. It joins Bypoglossal nerve to reach
the tongue.

3. It is secreto-motor to sub-mandibu-
Jar and sub-lingual salivary glands.
Select the correct answer., using the
code given below :
(a) 1,2 and 3
(b) 1-and 2 only

() 2and3 only - :

@ 1 and 3 only -

Match List T with List I and select the
correct answer using the:code given
below. the Lists : -

List 11

List I
(Laryngeal (Actions on
muscles) vocal cords)
A. Cricothyroid 1. Tensor’
B. Posteror 2. Abductor
Cricoarytenoid _
3. Relaxor

C. Thyroarytenoid

4. Adductor
D. Transverse. .

arytenoid
" Code : |
A B C ’.D, :
@ 1 2 3 4.
(b) _l 3 A 2 4
© 4 2 3 1
@ 4 37 2 1.
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:16-"

Excessive haemorrhage in tonsillectomy
results from injury to

(a) Ascending palatine artery
(b) Venous commitants of facial artery .

(c) Paratonsillar vein

. (@) Internal carotid artery

17.

18.

19.

Bronchopulmonary segment contains the
following except

(a) Independent pulmonary artery

~(b) Independent pulmonary vein

(c) Tertiary or segmental bronchiole

(d) Lymphatics along pulmonary artery

The epithelium of the skin is

(a) Simple columnar

(b) Pseudostratiﬁed columnar

(c) S&atiﬁcd squamous keratinized

(d) Stratified squamous nonkeratinized

Consider the ‘following :
1. Notochord
2. Dermomyotome -
3. Sclerotome

From which of the above does the
intervertebral disc in the vertebral
columri develop ?

(@) 1,2 and3

(b) 1 and 2 only
{c) 2 and 3 only

(d) 1 and 3 only
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20. Which one of the cutaneous mechano-

21.

22.

receptors is -best suited to encode
the information regarding vibration (at
> 250 Hz) sense ?

(a) Ruffini endings

(b) Merkel dislfs

(c) Meissner corpuscles

(d) Pacinian corpuscles

Consider the following statements :

The basal ganglion Iesions
hypertonia of the muscles which is

1. independent of proprioceptive input

2. abolished when the involved dorsal
roots are cut

3. comparable to that of spasticity

4. present both in flexor and extensor
muscles

Which of the statements given above
are correct ? '

(@) 1,2and 3 only".
(b) 1 and'3 only

{¢) 2 and 4Ionly

@ 1.2 3and 4

Consider the following statements :

. . A
Hormones involved. in the male

reproductive axis include
1. LH and F,SHi

2, Testosterone

.3. GnRH

4. Inhibin

N-DTQ-K-OGU - A

induce -

23,

Which of the-statements given above

are correct ?

(a) 1,2 and 3 only
(b)Y 1 and 3 only
(c) 2 and 4 only

(d 1,2, 3and 4

Gonadotropin releasing hormone (GnRH)
s a

(a) Hexapeptide

(b) Decapeptide-

25,

() Octapeptide

(d) Protein having fifty amino acids

The ‘oral pill’ used for control of
fertility contains

(a)  natural estrogen

(tj) natural progesterone

(©) synthetic estrogen -

(d) synthetic dipeptide

Which one of the following statements
regarding estradiol is mof correct ?

(a) It is produced by -the ovarian
follicles

(b) Tt inhibits LH release from pituitary

(c) It simulates FSH release

(d) It-inhibits linear body growth
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26. Which of the following ECG leads

27.

28.

N-DTQ-K-OGU - A~

provide information regarding the direc-

tion of instantaneous cardiac vectors in .

transverse (horizontal) plane ?
1. Bipolar limb leads ' .
2. Precordial feads V1, V3 and V6
3. Augmehted-unipo]ar limb leads
4. Precordial leads V2, V4 and V5

Select the correct answer using the
code given below :

(a) 1, 2 and 3 only
(b) 1 and 3 only
{¢) 2 and 4 only

(@ 1.2, 3and 4

In normal electrocardiogram the ventri-
cular repolarization is represented by

(a) T wave

(b) QRS complex

(c) .P wave

(d) U wave o P

Consider the following statements :
Hering-Breuer deflation reflex is -

"1. inactive during normal breathing

- 2. associated with inhibition of inspi-

ration

3. mediated by myelinated vagal
afferents '

4. associated with irritant recepiors

Which of the statements given above
are correct 7 ' :

(a) 1, 2 and 3 only ‘.
(b) 1 and 3 only

(¢} 2 and 4 only

@ t.2.3and4

129, Administration of pure (100%) 0,10 a
- patient with severe hypoxemia \M!l._be
harmful because : '

(a) it prod‘uces‘ pulmonary edema

(b) produces apnea due to loss of
peripheral chemoreceptor activity

(c) the V/Q ratio will become too large
thus promotes hypocapnia

(d) the respiratory exchange ratio will
become much less than the V/Q
ratio, thus promoting an unfavoura-
ble shift in the mixed venous blood
composition

30. Hydroxylation of Vitamin D takes place -
at position 1 n '
(a) Kidney
(b) Liver
-(c) Muscle
(d) Skin

31. In metabolic acidosis excretion of the
following are increased in urine

1. Sodium dihydrogen phosphate
2. Sodium chloride

3. Ammonia

Select the correct answer using the
code given below:

(a) 1,2 and 3
(h) ' 1 and 2 only
(cy 2 and 3 only - | ’

(d)- 1 and '3 only

10
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32. The chionde shift involves

(2) Transport of H* ions {rom RBC for
each CO, molecule that enters

(b) Transport of HCO, ioﬁs from the
erythrocytes in exchange for ClI-

jons

Transport. of H,CO; from the

()
- erythrocytes

(dy When CO, is discharged in lungs,
NaCl enters the erythrocytes

Glycerol-3-phosphdte that 1s “used in
lipid synthesis is produced by the,

33.

(a) reduction of dihydroxyacetone phos-
phate S

oxidation of glyéeraldehydes—S—
phosphaté .

(b)

(c) dephosphorylation of 1, 3-bisphos-

phoglycerate
(d) reductive phosphorylation of p)iru—-
vate 3
Consider the following statements :

Significance -of Pentose
pathway lies in the

1. formation of Glucuronic acid
2. formation of Ribose § phosphate
3. generation of NADPH,

Select the correct answer using the
code given below :

(a)
(b) 1 and 2 only

1,2 and 3

(c) 2 and 3 only
(d) 1 and 3 only

N-DTQ-K-OGU - A

phosphate

'35, GLUT 1 and 3 are bidirectional trans-
porters-and are located in

(a) Kidney

(b) Pancreatic § cells
(c) Heart

(d) Adipose tissue

36. Consider the following :
1. Aceto Acetatc' ‘
2. Bilirubin

3. Phenols

With which of the above.doe‘s UDP-
- Glucuronic acid conjugate ?

(a) 1,2 and3
(by 1 and’2 only
(¢) 2and 3 only .
| (d) | and 3 enly
Bilirubin formed in reticuioendothelial

cells is transported to liver in combina-
tion with

(a)
(b) albumin

37.

transferrin

{c) g]oﬁulin

" (d) ceruloplasmin

38. Which one of the following enzymatic

reactions in the biosynthesis of por-
phyrins is the regulatory step ?

(a) Uroporphyrinogen | synthetase
(b) Uroporphyrinogen decgrboxylase
(c) d-amino laevulinate synthetase

(d) Protoporphyrinogen oxidase

12
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39.

40,

41.

42,

()

Which of the following chemtical media-
tors causes vasoconstriction, broncho-
constriction and increased vascular per-
meability 7

{a) prostaglandin

(b) leukotriene *

(c) thromboxane A

(d) serotonin

Which one of the following is the best

example of acute inflammation that
terminates in resolution ?

(a) Acute appendicitis

(b) Lobar pneumonia

{c) Osteomyelitlis

(d) Fibrinous pericarditis

With reference to the chara'(':teristics of

chronic inflammation which onc of the
following is rot correct ?

(a)
(b)
(c)
(d)

"Mononuclear cell infiltration
Tissue destruction
Healing by first intention

Fibrosis

Which one of the following phenorhena'

is not a characteristic of cancer cells ?
(a) Loss of contact inhibition
Formation of tumour giant cells

(c)
(d)

Formation of monolayer cells

appearance of new antigens
.

N-DTQ-K-OGU - A

"Masking of normal antigen and
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43, The myc oncogene is associated with

44.

- (©)

45,

46.

()

the following except
(a) Burkitt lymphoma '
(b) Neuroblastoma

{c) Small cell carcinoma of lung

" (d) Osteosarcoma

Which of the following is a DNA repair
gene ?

(4) bcl-2
(b) APC"
BRCA-1

(d)- TG_F—B receptor

. v N
Which of the following statements 1s
not true with regard to Rb gene ?

(a) The product of Rb .gene- pRb
prevents cell replication by binding
to E2F :

)
©)

It is a tumor suppressor gene

Rb gene mutations are scen In
-Osteosarcoma

(d)

An inherited mutation of Rb is
seen  Li-Fraumeni syndrome

Capsule of a benign ﬁeop]asm is -
produced by -

(a) fibrogenic factors secreted by the
expanding neoplastic cells

stroma of the native tissue as
parenchymal cells undergo atrophy
due to expanding tumor '

(b)

ischemic necrosis followed by scar
formation at the periphery of the
new growth

(c)

desmoplastic  response by  the

surrounding normal tissue
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47,

48.

49.

50.

©
@

(©
_(d)

The following factors predispose to "

coronary atherosclerosis except
(a)
(b)

familial hypercholesterolemia
hyperthyroidism
cigarette smoking

diab_etes mellitus_

In case of myocardial infarction, the
infarcted area grossly becomes maxi-

-mally yellow tan, soft with depressed
red-tan margins and microscopically

shows- early granulation tissue at the
margin during

(a) first 24 hr
(b) 1-3 days
(¢) 3-7 days
(d) _7—10 days

What is the most common pathogenetic
mechanism in acute corenary syndrome-?

(a)
(b)

Embolism
Vasculitis
Plaque disruption

Vasospasm -

‘Ground glass’. appearance of hepato-
cytes in HBV infection is due to

(a) HBcAg

- (b) HBsAg

N-DTQ-K-OGU - A

(c)
(d) DNA polymerase

HBeAg

r
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51.

52.

53.

(c)

(®)

Which of the following statements is
not true with respect to luberculosis in
HIV patients ?

(a) There is a lack of well formed
grapulomas in tissues

(b) They have false negative PPD test

(Mantoux test)

Severely immunosuppressed patients -
_ may develop infection with Myco-
bacterium avium

()

Interferon-gamma
~always adequate

(d)

response¢ 18

in which of the following conditions is
the Mantoux test not false negative ?

Miliary tuberculosis

(a)
(b)

Early tuberculosis

(c)

Advanced tuberculoéis

(d)

Secondary tuberculosis

Which of the, following statements
is mot true with respect to typhoid
infection ? - ' :

Intestinal ulcers are oval and
longitudinal ‘

(a)

Ulcers involve Peyer patches

Colonization of the bacilli in the
gall bladder is a cause for carrier
staie

Microscopically it shows nunerous
neutrophils with erythrophagocyto-
sis .

(d)
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55.

56.

57.
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()

* (a)

L]

Which of the following is not true with |

respect to meningococcal infection ?

(@)

Capsule is the key determinant of
its virulence

It may lead to DIC and Water-
house-Friederichsen syndrome

(b)

(¢) In meningococcal meningitis, the
initial infection appears in the

nasopharynx

Sample should be” refrigerated
before culture ‘ '

Hepatitis B conjugate vaccine consists -

of recombinant particles of

(a) HBsAg

(b) HBeAg

(c) HBcAg

(d) HBV-DNA

The periéheral bloed film of all patients

(except moribund) suffering  from
Plasmodium falciparum infection shows

(a) all the stages of the parasite
(b) only ring stage and gameles

: B
(¢)- only gametes

'(d) only ring stage

The reason that many Afncans are
resistant to Plasmodium vivax is that
their red cells

are deficient in GOPD
(b) contain Haemoglobin 5
{c)

(d)

lack Duffy blood group factors

contain glycophorin receptors

- 18

58.

60.

. Consider _ the following

Which of the following is nof a major
risk factor for hepatocellular carci-
noma ? - ‘
(a) Ciirhosis

(b) Aflatoxin ingestion

{c) Hepatitis B virus infection .

(d) Clonorchis sinensis infection

statements
regarding protein energy malnutrition :

1. There is an impaired cell mediated -
immunity.

2. There is a loss of both lean body
mass and adipose tissue.

3. Manifestation of kwashiorkor mimic
the manifestation of hypoalbumin-
aemia in adults.

Which of the statements given above
are correct ?

(a) 1,2 and 3
(b) 1 and 2 only

(¢y 1 and 3 only

" (d) 2 and 3 only

All are clinical features of magnesium
deficiency except

(a) convulsions ' .
(b) positive Chvostek’s sign
(c) wmuscular weakness

(d) diarrhoea
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61. Conéider time following statements :
Sudden cardiac death can occur in
1. dilated cardiomyopathy
2. hypertrophic cardiomyopathy
3. Eisenmenger syndrome '
4. severe aortic stenosis

Which of the statements given above
are correct ?

(a) §, 2 and 3 only
(b} 2 and 4 only
(c) 1,3 and 4 only
(d) 1,2, 3and 4

62. Consider the following statements :

During cardiopulmonary resuscitation,
IV calcium gluconate is indicated under
the following circumstances :

1. Routinely after 1 minute of arrest
2. Hypocalcemia |

3. Catcium channel blockers toxicity
4. Electromechanical dissociation

Select the correct answer using the
code given below :

(a) 1 and 2

(b) 2 and 3 only
(©) 1,3 and 4
(&) 2,3 and 4

63.
history - of recurrent vomiting and
diarrhoea for five days, with poor intake
of food and fluids. His urine output
is about 150 ml during the¢ previous
24 hours. Amongst the following, which
is the most useful invesiigation to
differentiate between teversible pre-
rena) acute renal failure and established
renal acute renal failure ?

N-DTQ-K-OGU - A

A person is admitted in casualty with a -

20

64.

-65.

(b)

(d)

{c)

\
(a)

Urine sodiam concentration

Plasma blood urea nitrogen/creati-
nine ratio ' '
(c)- Urine microscopic examination
Fractional excretion of sodium
Investigations in a patient with oliguria

revealed the following :

Urine osmolality 615 mosmol/kg.

Urine sodium E '-9 mmol/1
Urine/plasma

urea nitrogen

ratto | : 15:1

What is the most likely diagnosis 7

(a) ~ Acute tubular Necrosis

(b) Pre-renal acute renal failure
(c) ,Acute cortical necrosis y

(d) Interstitial nephritis

A 50 year old man with a history of
smoking, hypertension and chronic
exertional angina develops several daily
episodes of typical angina at rest. Which
of the following would be appropriate
for immediale management ?

1. Inj'ectable heparin

"2. Aspirin

3. Intravenous nitroglycerine
4. Lidocaine by bolus infusion

Select the correct answer using the
code given below :

(a)
(b)

1 and 2 only
1, 2 and 3 only
2, 3 and 4 only .

@ 1,2, 3and 4
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66. With reference to poliomyelitis, which

67.

68.

()

_diagnosis ?

one of the following statements is #of
correct ?

(a)
(b)

It is caused by enterovirus

Many patients recover fully after
the initial phase of mild fever and
headache

Poliomyeliiis virus may be cultured
- from CSF and stool

(©)

CSF shows a lymphocytic pleocyto-
sis and decreased sugar content

A patient presented with breathlessness
and occasional dry cough. On physical
examination, he is found to
bilateral basal crepitations. His pulmo-
nary function tests reveal a decrease in
total lung capacity and vital capacity
(VC) with normal FEVI/FVC ratio.
Which of the following is the most likely

| (a) Chronic bronchitis

(b)
{¢) Cystic fibrosis
(d)

Idiopathic pulmonary fibrosis

Allergic bronchbphlmonary asper-
gillosis

A 28 year old woman presented with
high grade fever with chills, diarrhoca,
mental confusion and non-productive
cough for 4 days. X-ray chest revealed

bilateral pneumonitis. What is the most’

likely etiology ?
(a) Streptococcus pneumoniae

(b) Haemophilus iuﬂue;azae_

(c) Legionella

(d) Sraphylococcus aureus

N-DTQ-K-OGU - A
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69.

70.

71.

-(b)

A 40 ycar old man, a known case of
cirthosis, develops an acute episode of
hacmatemesis. The most appropriate
intervention in this case would be

(a) Nasogastric aspiration.
(bjr Beta-blocker therapy
(c) Urgent endoscopy

(d), Ultrasound abdomen

The triad of Zollinger-Ellison syndrome

- does not include

(a) _severe pepfic ulceration
single large ulcer

©
(d)

gastric acid hypersecretion

non-beta cell islet tumor of pancreas
(gastrinomas)

Consider the following staiements with

-reference to “Molecular adsorbent re-

circulating system?” :
1. Tt is a form of dialysis.

2. It may be used in patients with
acute liver failure.

3. It can remove albumin bound
substatices. '

4. It can be used as a bridge to liver
transplantation.

Which of the staiements given above-
are correct 7

(a) 1, 2 and 3 only
(b) 2 and 4 only
() I,2,3and 4
(d) 1 and 3 only
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72. Consider the following statements with
reference to H. pylori and ItS association
with peptic ulcer :

1. The prevalence of H. pylori in

developing countries is generally
much higher than in developed,

countries.

2. No reserveoirs for H. pylori other
than human gastric mucosa have
been demonstrated.

3. In contrast to the widespread
prevalence of antral H. pylori in
non-ulcer subjects, duocdenal H.
pylori is an uncommon finding in
-normal subjects.

4. Less than 30% of patients with
duodenal ulcer have H. .pylori
identified in amral biopsy samples.

Which of the statements given above
are correct ?

(a) 1 and 4

(b) 1 and 2 only

© 1,2and3

(d) 2,3 and 4
73. Which one of the following staiémenté

is not correct about Type 1 Lepra reac-
“tion ?

(a) It is a cell medlated hypersensiti-
vity

() Nerves become painful and thick-
ened

(c) It is commonly seen in border]me
tuberculoid leprosy

- (d), It is an immune complex pheno-
menon '
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74.

75.

76.

71.

Coma due to opoids overdose can have
the following signs except

(a) Constricted pupil

(b) Bradycardia

() Decreased respiratory rate

(d) Hyperthermia

Which one of the following auto-

antibodies is most frequently associated
with drug induced lupus

(a) Anti-ds DNA"

(b) Anti-sm

{c) Anti-histone

(d) Anti-Ro

A 30 year old man with Type 2 Dia-
betes mellitus has a blood pressure of
150/90 mmHg. His urine examination
reveals persistent albuminuria in trace

amount. What would be the most
appropriate line of management 2,

(a) Intensification of control of blood
sugar '

{(b) Restriction of sodium only

(c) Restriction of sodium and adding
an angiotensin converting enzyme
(ACE) inhibitor

(d) Regular examination of urine and

. monitoring of blood sugar

Which of the following biochemical
ﬂbﬂOU’ndll[lCS 1s usually net dssocmtcd
with diabetic ketoacidosis ?

(a) Decrease in hepatic malony] CoA
(b) Increase in plasma free fatty acids

(c) Decrease in circulating insulin/
glucagon ratio

(d)} Increase in blood bicarbonate level
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78.

79.

80.

81.

Investigation of choice in case of sub-
arachnoid haemorrhage is

(a) MRI
(d) CT scan
(c) Luml::ar puncture

(d) Transcranial Doppler

3

A 35 year old chronic alcoholic . pres-
ented to the casualty with complaints of
high grade fever and altered sensorium

for the last three days. On examination

he is found- to have neck rigidity.

Pending the CSF report; the initial

empirical antibiotic treatment would be
(a) Ampicillin + ceftriaxone

(b) Ceftriaxone + amikacin

(c) Ceftriaxone + vancomycin

(d) Antitubercular treatment

Ty
i

.r‘ill .‘
‘Which onc among the following is the
'most common cause of sudden death ?

(a) Ventricular fibriilation

(b) Vemricular asystole.

(c). Tension pneumothorax

(d) Electromechanical dissociation
‘Which one of the following conditions

is not classified as immediately iife-
threatening ?

(a) AirWay ‘obstiuction
(b) Tracheobronchial rupture
(c) Tension pneumothorax

(d) Cardiac tamponade

N-DTQ-K-OGU - A
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82.

83.

84,

After subtotal gastrectomy for gastric
cancer, the blood supply of gastric stump
depends on '

(a) Left gastrfc artery
(b)
(©

(d

Short gastric arterics
Right gastric artery

Left gdé.tmepiploic artery

Which one of the following is not a sign
of fracture neck femur ?

(a) Tenderness over the site of fracture
(b) Internal rotation of the timb
(c) Shortening of the limb

(d) Inability to raise the leg

Which one of the-following gases is

- used to create pneumoperitoneum for

85.

laparoscopic appendicectomy ?

‘(a) Oxygen

{(b) Carbon dioxide
(c) Nitrous oxide -

(d) Halothane

The following are' indications for open
reduction of fractures except

(a)
(b)
(c)
(d)

disptaced intra-articular fractures
grossly unstable fractures
open fractures

impacted, stable, undisplaced frac-
tures
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86.

87.

88. The ankle brachial pressure

89.

In a patient with surgical jaundice,
which of the following is the most

important factor for preventing the post
operative hepatorenal failure ?

(a) Pre-operative drainage
(b) Antibiotic prophylaxis

W

(c) Correction of anaemia

(d) Correction of dehydration

Which one of the following imaging
mvestigations is a gold standard for the
evaluation of hydrocephalus ?

(a} MRI

(b) CT scan ’

(c) USG

(d) Ventriculography ..

index
(ABPI) of < 0-3 signifies

(a) no arterial obstruction

-
I

(b) mild degree of obstruction

" (c) severe degree of obstruction”

(d) imminent necrosis

Which one of the following is classified
as smail cell lung cancer ?

(a) Adenocarcinoma
(b) Squamous cell carcinoma
(c) Oat cell carcinoma

{(d) Broncho alveolar carcinoma |
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90.

91.

92.
- breast cancer is treated by neoadjuvant

93,

Intestinal obstruction caused by colonic
carcinoma at the following site can be
managed by colostomy -

(a) Caecum
(b) Hepatic flexture of colon
(c) Ascending colon

(d) Descending colon

With reference to benign prostate
hyperplasia (BFH)," which one of the
following statements is not correct ?

(a) Prostate enlarges because of
increased oestrogenic effect

(b) Bladder ouiflow obstruction is
caused in part by increased smooth
muscle tone which is under the
control of o adrenergic agonists

'(¢) BPH affects only the glandular

epithelium and not the connective
tissue stroma

“(d) BPH leads to lengthening of pros-

tatic urethra and bladder outflow
obstruction in later stage

Which one of the following situations in

chemotherapy followed by surgery ?
(a) Screen detected DCIS

(b) Node negative T, lesion

(c) Node positive T, lesion

(d) Inflammatory carcinoma

Which one of the foilowing markers is
useful ,in antenatal diagnosis of spina
bifida ? '

(a) P HCG
(b) o FP

() CEA

(d) CA 19-9°




86.

87.

e diferar & T H & &1 & gy

TFagFRIE & e F o feferfaa
¥ Fiwar ge safts seEg g 7 -

(a) qﬁamnfﬁ&sm
(b) gﬁﬁﬁwﬁﬁa

(©) Waﬁﬁﬁ

(d) ﬁﬁaﬁa«waﬁm :

St % i & R RehiR

# wrmar gfaferem (FRfoT)  smw,
@uEE g 7

() MRI
() CT &

- (c) USG

88.

(d) q%wﬁwﬁmr

< 03 o6 TS TF gEHH (ABPI) -

frasr adaw & 7

@) o R gy T

(b) sﬁﬁtmaaﬁq

© mﬁt | FT FaQy

. (d) ufre sowem

89.

Frafafea & swar o, wopa &

o S ¥ w7 F e § 7

90.

91.

ffeafafes & 3@ om w gee=
HRAT & HIO AT FaUY H Jga=
feeiterter g1 I7=R foea AT T © 7
@ & |

(b) FERA T AFAAR

() IR Fea

(d) A FeTA

g w©w afifwaw & st 4§,

frerfofaa et ¥ Fiar aer A 2 7
@) Waﬁm%mﬁgwﬁr

fg et 2

.(b)aqﬁﬁ?a YIS T9E &

92.

93.

(b)) & FP

freme faaasht & aftfa am
Fie & & mme afgafs. @
FARNET el & '
e [T Afafise ad 7f:m
mﬁgwﬁ?raﬂm%aﬁtmﬁvﬁ
Fad D Fr adf

qaw e e e g
- i TS ST @ T IuRadt w1 &
T Sfats @ s aar

W@ T B fafafas & & S
v f&fd &1 qogme-aee e,
TG WAFH GRT T Bt & 7

(a) TET-§gT DCIS |

(b) W& AfEE T, fafa

() o wifsle T, fawfy

(c)

(d)

C () $I'{ﬁ=ﬁ'~FIT

3{{1?5 e & s frem F R |
ﬁmﬁﬁaﬁﬁaﬁﬂm@ﬁ?ﬁeﬁu‘lﬁ%?.
(a) BHCG "

(c)y CEA
(d) CA 19-9

A - N-DTQ-K-OGU




4. Coﬁsider the following statements : . 98. Chemical pleurodesis is used in the

Constipation may mnof be a clinical treatment of

feature in intestinal obstruction due to (a) recurrent pneumothorax

1. gall stone ileus | (b) pleurisy
2. mesenteric vascular gcclusion :
(c) oesophageal leak
3. Richter’s hemia

‘ d 'o[ho.rax
4. closed loop obstruction @

Which of the statements given above 99. The lead point for an intussusception in
are correct ? : — majority of infants is believed to be
(@ 1,2and3 (a) polyp

(b) 2,3 and 4 () lipoma

(¢) 2 and 3 only

(¢) enlarged Peyer’s patch
(d) 3 and 4 only. ,

. (d) Meckel’s diverticulum
95, A’catheter sized 16 F means

100. Which one of the following is net useful

(2) 16 mm diameter . i - -
' in the diagnosis of acute appendicitis ?

(b) 1-6 inch diameter
a} Rovsing’s sign
(¢) 16 mm circumference (a) gs sig

(d) 1-6 inch circumference _(b) Pointing sign

. K (c) Murphy’s sign
. 96. Following are the features of upper _
motor neuron lesion due to spinal cord (d) Psoas sign
compression except : . :

(a) myotomal loss -101. Body Mass Index in adults is calculated

. as
(b) pyramidal loss
{c) increased muscle tone @) V%{eigl;t.z in kg % 100
. (d) brisk reflexes Height™ in metre
97. In haemorrhagic shock, which one of . Weight? in kg
the following is the most suitable fluid ° Height in cm
for initial resuscitation ? ,
(8) 5% Dextrose - ._ © Hf;.ivgl.lt ]i1n fnelzrgs <100
(b) 10% Alburmin | cightin kg
(c) Isotonic saline ’ ) .Weight inkg
- (d) O negative whole blood IrIf:i,ght2 in metre -
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102. Consider the following spafeme'nts :

Quality of protein in diet can be asses-
sed by- ' '

1. amino acid contents
2. net profein utilization
3. prolein energy ratio

Which of the statements given above
is/are correct ? :

(@) 1 only

(b) 1 and 2 only
{¢) 2 and 3 only
@ 1,2 and 3

103.
used to monitor .Aedes aegypti except

(a) House inde}\c :
{b) Container index
(c) Breteau index

*(d) Adult index -

104. Consider the following statements :

1. In thiamine deficiency, pyruvic acid
and lactic acid accumulate in the
tissues and body fluids.

2. Riboflavin deficiency impairs the
optimal 'utilization of pyridoxine.

Which of the statements given above
is/are correct?

(a) 1 only

(b) 2 only _
| (c) Both 1 and 2 -

(d) Neither 1 nor 2
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The following indices are commonly |
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105.

" 106.

107.

(@)

Consider the followiﬁg table :

Test result | Disease | Disease
present absent

Positive 300 80

Negative 60 800

The specificity of the test” indicated

above 1s

(a) 7895%
(b) 83-33%
(c) 9091% -

(d) 93-02%

A 3-year old child having diarrhoea .

presents with clinical dehydration.
Which of the following is the best
estimate for volume of oral re-hydration
solution required during the “first four
hours ?7- ' '

(1) 400—600 ml

(b) 800-1200 mi

(¢} 1200-1600 m]

(d) 1600-2200 ml

Which one of the following is the most
common non-obstetric cause of maternal
mortality ?

Cardiac disease complicating preg-
nancy

(b)
(c)
(@)

Anaeimia
Unsafe abortion

Infectious diseases

*
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108. Which of the following comprise the
two most common cancers in Indian
women ?

(a) Cervical and oropharyngeal
(b) Cervical and lung

(¢) Lung and breast

(d) Breast and cervix

109. Throfnbocytopenia is seen in which of
the following ? ' '

(a) Influenza
(b) Hepatitis B
(¢} Dengue

. (d) Malana

110. What is the expulsion rate of CuT

380A 7
(a) 0-1%
(b) 1%
©) 3%

(d) 5% .

111. Passive immunization in humans is

" available against all of the following
infections except

(a) Tetanus

(b) Viral Hepatitis B

(c) Rabies

(d) Meningococcal meningitis:
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112. Consider the following :

113.

114.

1. Harrison’s sulcus
2. Rickety rosary
3. Cheilosis

4. Kyphoscqliosis

Which of the above-are the signs of
Vitamin D deficiency ?

(a) 1,2and3
(b) 2,3 and 4
(¢) 1,2 and 4
(d) 1,3 and 4

Consider the following statements :

" 1. Foetal death after 28 weeks of
pregnancy.

2. Neonatal death within one week
after birth.

3. Neonatal death within 28 days after
birth. -

Which of the above are used to calculate
perinatal mortality rate ?

(a) 1 only

(b) 1 and 2

{¢c) 1and3

(d) 2 only

Which one of the following is the active

principle responsible for causation of
epidemic dropsy ?

(a) Beta Oxalyl Amino Alani_ne
(b) Aflatoxin Bl

(c) Sanguinarine

~(d) Pyrrolizidine
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115. Consider the following :

116.

117.

1. Hypothyroid goitre'
2. Deaf mutism
3. Abortions
- 4. Chronic kidney disease

lodine deficiency is linked to which of
the above disease states ?

-(a) 1 only

®) 1 and 3 only

(c) 1,2and 3

(d) 1,2 and 4

With reference to National Rural Health
Mission, which one of the following
statements is not correct about the
Accredited  Social Health = Activist
(ASHA)? .

~(a) She shall be a resident woman

(b) She shall be between the age group

25-45 years

(c)
up to 8th class

She should serve at least 2000
population

(d)

Integrated Management of Neonatal &
Childhood Ilinesses (IMNCI) includes

" the following diseases except
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(a)
(bj anaemia
(c)

(d) measles -

malaria

tuberculosis

She should have a formal education -

36

119.

120.

)

118. Recommended daily allowance of one

gram of protein per kg body weight for
adult males and females is based on the
NPU (Net Protein Utilisation) value of

(a) 50
(b) 65
75
(d) 90
Consider the following diseases : .
1. AIDS

2. Poliomyelitis

3. Tuberculosis

In which of. the above is sentinel
surveiliance done ? ' :

(a)
(b)
(c)
(d)

1 and 2 only
2 and 3 o'nly
1 and 3 only
1,2 and 3

Consider the following :
1. Behavioural Surveillance

2. Ensuring blood safety during trans-
fusion '

3. Provision of ART to HIV cases free
of cost

Which of the above are included in the
National AIDS Control Programme in
India ? .

(a) 1 and 2 only
1 and 3 only
(¢) 2 and 3 only
(d) 1,2 and 3




115.

116.

117.

faffaa = ffaw fifto
1. FETH(HIAT oAU

EHﬁJ’(’-[ch-IT

3. T

4. et g9% anfy

SIS BT IRfew ¥ & fr ey @
gafea & 7

(a) FaT 1

(b) FaeT 1 AR 3

© 1,2 3

@ 1,23R4

g LIRS SH R S
ﬁmﬁﬁaaama‘rﬂ@raﬁwqazgmﬁa

- 118.

A W AfFaarE (ASHA) ¥

TR A g AR 7
() T& T waTfe Afgen S A1

() T®25-45 F AT I A A A

(c) ITHT o= Rrem e 8 a6 Sy
aTfey :

(d) T 7 2000 Fr e £ Fa

Y& AT AT

TEST U FTeqrEedy AW T G Ioa
(IMNCI) -Feafafea it & afdifmr
e g, fam

(a) waf@r

‘(b)al'(?ﬁﬂ

(c) dgHT

@ T

37

o7 T 7 AT 3 R o oy
fFem W gt & s

NPU (32 912 3I9an)¥F frad am @

119,

e ¥ R, it P B it 2 7

s 8 7
(a) 50
(b) 65
© 75
@ 90

Prerferfr T ¢ e AR
1. AIDS

2. Giferresy W

3. gemT S

(2) Fad 1 AR 2

(b) Haw 2 T3

T (c) FAA] A3

120.

(d) 1,2 3K 3

frferfea w AR i .
| FEERRE s

2.%%'%&5@1{%&1?

ST

3. HIV & Qfl &1 ART &7 {9

EIECIE]

WRA & T AIDS o= snfea &

wjﬁﬁﬁﬁaﬁﬁﬁa%?
(a) e 1 R 2 |
(b) *ae 1 @3

(¢) FaT 2R3

d) 1,233

A - N-DTQ-K-OGU




SPACE FOR ROUGH WORK | | g

N-DTQ-K-OGU - A 38




Fvo A & fog sorg

39 A - N-DTQ-K-OGU

-




e : NDTQK-OGU o ordtew gfRee g

e (A

: o - | qufe : 300

10.

U
T T B ¥ qUe A1E, AT R adwr qitaa Y qeate waw w0 S G ged e e
BT, F2T AT GET gAT T AR Fyier anfd ¥ g | ofy Yew , o o8 =t odveror qfeawr & v

w1

mm&a@wwmmwA B, C T D waiffafy v &1 & Heag e |
mﬁmg@mwmﬁﬁqmaﬁmﬁm
mw%@m%mﬁwﬁwqtaﬁt@a
o |

TH g gies 7 120 sraam(wr ) few g € | gde ey FErd o o W ouT 3 ) e weea

& 9 yRqeR (ITR) Ru AT F | o & o gege’ A o &, R oy Ie-mE R AT Awa E )
4% st Y & 6w & arfees gk W€, ﬁwmaﬁaﬁﬁa&ﬁmmaﬁlm

TEAI & g Faer O Er IET g §

mwmwmammwmmammmmmﬁmmﬁarml

Y OATIT & e FEE ¢

5o g fn sy e qftee & fafirr man & goee 9ak- mthfﬁﬂmaﬁa% WEﬁTE-l%f‘QT

TAT-95 3 & AR Ry F oMER $7 e Se-uaw A A €

ST AT AT THTR] Sl I - mﬁﬂﬁ%quﬁw%wwmwmmﬁmaﬁﬁq

< | SATIHT AU T W JEIHT o S b AT g 1

ﬁm%%qmqf‘&mg%mé?mﬁm%[

AT g & frg g

aﬁﬁwmﬁﬁmmﬁqﬂqﬂmaﬂﬁ%maﬁﬁmml

() IR T ¥ g I Ao IR € | SRR gy o 9v 3 forg fRe e o e v & ferg
- w ¥ Frr g g st o-frerd (033) 93 ¥ w0 X ey e |

iy aft ¥ Iefiear o § afis I 24T 8, @ 5 T g wen s, Fef fag g eadd A |
U I @@ oar &, R ot 97w & forg SodeRigEe € 9E TRE & &S fear s |

i) afE SRR ST S YT & T61 foRaT S €, srafq SEieE g 9wk gl fear s @, at 39

uy & forg Frg g2 AEY fout smowm |

wwmagqﬁwg%wm##wmmaam#@#

'Note : English version of the instructions is printed on the front cover of this Booklet.
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